HW2 Solutions

Here are the solutions that I got when running through the problems.
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Your answers may be different depending on what you picked your eigenvectors

to be.
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y = 1622 — 224
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Your answers may be different depending on what you picked your eigenvectors

to be.
1 1 30
r=( 4 5)e=(50)
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The only true ones are A and F.
FALLO7 # 11

A

SPRINGOS8 # 10

C

FALLOG6 # 4

C

SPRINGO7 # 2

Here’s a hint. Use determinants and the fact that det(A) = det(AT).
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_ 2z } :
y=e “*(cosdx + 5 sin 4x)
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2 and 5 are the only defined things.



